%40\ HEMHEA—FL—AKRZHER(AEH)

I73Y—D#(2. Okm) UNESFALTEREBE B TNIZRDEHEA]

INERBFDER (2. Okm) [4F4ALIE]

% g |1 R4 = ﬁ % 1m| T K4 = ﬁ
1 Hil 155 - B IR 753457 1 218 (4 [E )7 Ly 743007
2 Bk B - HE S 173598 2| 217 |%R FLeESoE— 17018
3 21 Bk & B &H 85127 3 205 |EmA KpE SR
4 1 |kB8 Bk - 282 2% 85145 4 | 204 |BN EFH 75328%
5 19 |=:m gAms - =8 @ 85215 5 | 224 [E)I X 75378
6 10 |FZ %4 - F= Al 85332%) 6 | 201 [fO@kE KO 75338%)

INFRRZFDER (2. Okm) [4F4£LIE] PERBFDER (3. Okm)

% g7 K4 ; ﬁ % |7 E 4 :\ f
1 110 |fkik 2% 75346%) 1 363 |k B 10520450
2 | 106 |{iE =4 857017 2 | 353 |RiE BE 1053198
3 109 [fE[R B0 85302%) 3 | 367 |#kHE #1% 1053245
4 | 108 |=iE WAR 85307%) 4 | 358 |iEEZFH BEA 10532580
5 113 |IITF #% 853 11%) 5 | 351 |H#2 KiE 105)39%)
6 107 |%R 2a)7 8517 6 355 [tHE EHZ 1053507

PR L FDER (3. Okm) =B FDE(5. Okm)
1 300 |BEMF EK 15348%) 1 525 |@kt % 1753057
2 | 305 |#&F PiE 1253327 2 507 |sem $R=E 1753067
3 | 304 |EA EE 1353318 3 | 522 |F%fE = 1750127
4 | 303 |=EWEOH 135342F) 4 | 526 |=E A 175340
5 5 | 500 |mm\ =— 1853017
6 6 502 |p&mE BEF 8507
=ik KE-— R ZFOER(3. Okm) —BF A OH(5. Okm) [45F Kik]

% g7 E 4 j ij % g7 K % j ii
1| 401 |=8 PED 153058 1 | 555 |3 B 1653275
2 | 403 |A)I fHE 115358%) 2 | 552 |Bmk RE& 16533570
3 | 404 |5H Fy 12'\15?1\ 3 | 564 |gix X 165345%)
4 | 402 |KEH #E 25352 4 | 554 |1k 3 1753037
5 | 400 [AIAR &E 4/\34%’1\ 5 | 563 | mpE 1850470
6 | 407 | XF 65708%) 6 | 710 |85 H3 853105

—fM&BF B DAR(5. Okm) [457%~595%] —fiBF C DE(3. Okm) [60mLLE]

% g7\ E % j ﬁ % 1|7 K £ j i
1 624 ||l R 8’\46%’1‘ 1 452 B F&F 2/\00@
2 | 622 | 2 8574970 2 | 455 |EA 11T 3526%)
3 | 604 |1tm & 95:\0414‘ 3 | 456 |EHE IE 36;\26@
4 | 701 | AT s 1953055 4 | 459 IR A 135344%
5 630 |%)1| A 19/\20@ 5 | 450 [B# BEX 13"48#’}‘
6 | 605 [m3 mAl 953> 42%) 6 | 451 |Ek ZHE 35357




